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Mr. Fitton








    NAME:_____________________


Social Studies 9









Test is out of: ______/ 33 Marks. 
Part 1: Multiple Choice. For the questions below, select the best answer. 

Circle the letter that corresponds to the correct answer. The multiple

choice is broken up into sections that correspond to topics covered in class. 

Section 1: Early Industrial Revolution. (12) Marks 
   YOUR SCORE_____/12
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1.“Enclosure” was the process where:
A. Raw materials were brought back from colonies

B.  Small strips of farmland were combined to create larger farms

C. New technology improved the speed with which crops could be planted

D. Scottish farmers experienced starvation due to disease in crops

2. This was NOT an outcome of “enclosure”:
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A. The large areas called “commons” were made unavailable to farmers

B. Farming became a business for profit

C. New plants and animals were introduced

D. The result was that land available for farming decreased

3.  The policy where business is free from government regulation is called:
A. Laissez-faire

B. Lazy Susan

C. Entrepreneurialism

D. Industrialism
4. A person who has extra money to invest in creating a factory is called a:

A. Consumer


B. Puritan

C. Capitalist


D. Communist
5.  Which of the following is NOT a reason the Industrial Revolution started in Britain?
A. The “Test Act” forced Puritans to focus on business and industry
B. Britain got all of its raw resources from its many colonies
C. Britain had a massive labour supply
D. The government encouraged the growth of technology
6. Which options below are benefits of the “seed drill”:
A. Led to an increase in food being produced

B. Planted seeds neatly producing less waste.

C. Farming with fewer people was possible.


D. All of the options listed

7. This best describes the advantages of “crop rotation”:
A. More seeds sprouted and less were eaten by birds and animals
B. Soil was broken up and enriched with manure & crops grew better
C. Land no longer needed to be kept fallow to regenerate its nutrients
D. It lowered the cost of raising crops
8. Which industry progressed the most rapidly during the Industrial Revolution?
A. Farming


B. Textile

C. Coal mining

D. Diamond mining
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9. What main reason was behind Britain seeking new colonies during the Industrial Revolution?
A. Slaves gave Britain a much-needed labour supply 
B. Wanted to conquer the world
C. Colonies provided them with raw resources

D. A sense of adventure was in the air
10. This invention solved the problem of powering the factory age.
A. Compressed steam

B. Steam engine

C. Gas Engine


D. Train
11. James Macadam’s roads were an improvement over roads in Britain (& are used today) because:
A. Users paid a fee to travel on them

B. Pack-horses could travel them without dropping their packs
C. People stopped using horses altogether
D. The three layers of graded stone shed water to the sides


12. This man is credited with building “The Rocket,” one of the first trains. 

A. George Stephenson

B. James Watt

C. James Hargreaves

D. Samuel Compton
Section 2: Economics. (3) Marks 




YOUR SCORE_____/3

13. Which statement best describes the “cottage system”?

A. A massive amount of goods was produced in large, mechanized cottages
B. Entrepreneurs opened up cottages and employed dozens of workers
C. Each village had one main cottage out of which goods were produced
D. Products that people bought were made by people at home, in cottages

14. Which statement best describes workers in the Industrial Revolution?
A. Their rights were protected by strong unions
B. They worked long hours, but had extensive holidays
C. They shared the wealth enjoyed by the employers
D. They were overworked and underpaid
15. Which was NOT one of the changes brought on by the “factory system”?
A. Vast new cities were created


B. Factory workers lived in large housing developments
C. It made Britain a very wealthy country
D. It provided workers with safer working conditions
Section 3: Factory Work and Sweatshops. (4) Marks     YOUR SCORE___/4

16. What was the best way for employers to increase their profits?

A. Hire more workers        B. Buy larger machines
      C. Lower workers’ pay
D. Keep workers happy
17. Which is NOT a reason that children were often employed in mines and factories?
A. They fit well into the small spaces in looms


B.  They fit well into mine tunnels
C. Their families needed the money



D. They were harder workers than adults
18. Which statement about education is true during the Industrial Revolution?
A. Education was compulsory, and children attended school regularly
B. Education was free, but only for the wealthiest children
C. Education was not compulsory, so few working class children could read, but it became compulsory after the factory acts to keep children under 10 from working.

D. Working children learned to read and write during lunch hours at work
19. Today, any factory that breaks 2 or more basic labour laws is called:
A. A sweatshop
  B. A factory system
    C. Wal-Mart       D. A good place for kids (like Carter) to be
Section 4: Society. (1) Marks    



 
YOUR SCORE___/1

20.  Which statement best describes the “Luddites” ?
A. A group of poor children who rose up and murdered their employers.

B. Women in the Industrial Revolution who revolted against their employers.

C. Disgruntled factory workers who lost their jobs so they destroyed machines.

D. Greedy factory owners who punished workers with beatings.
Section 5: Interpreting Statistics. (6) Marks

 YOUR SCORE___/6

Use the information below to answer the following questions. 

1845 Census

	Total Population
	223 054

	People living in cellars
	40 000

	People living in crowded apartments
	60 000

	Members of the working class
	160 000

	Death rate (per thousand)
	35

	Newborn’s chances of reaching the age of 5

(working class)

(upper class)
	1 in 2

4 in 5

	Average age at death
	22

	Number of toilets in Irish sections
	2 for every 250 people


1.  Give 2 reasons for the difference in infant mortality between the two classes. (2)
2. Today’s average age at death is around 75 years.  Give 3 possible reasons why there is such a big difference between then and now. (3)
3. Why is the # of toilets an important statistic in regards to the Industrial Revolution and life expectancy? (1)
Section 7: Illustration. (7) Marks

 

YOUR SCORE___/7
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Use the photograph to answer the questions below.

1. What type of manufacturing system is the worker in the top referring to that he hates? What is the type of system the comic suggests that he will prefer? (2)

2. Provide two examples of positive advancements that resulted from the industrial revolution (2). 

3. What is the main concern of the Deer as a result of the industrial revolution? (1)

4. Was the Deer’s concern legitimate? Provide 2 examples to support your view (2). 



If you have a question, Angelina might be able to answer it. 

Joey would answer it, but he can’t hear you. 




King Charles and his Executioner wish you luck














